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M & / SPACE FOR ROUGH WORK 



1. ' 4 ~ ~ ~ ' 7 n ~ ' ~ ' - m ~ ~ ~ ?  

(1) 37f+d%f mm (2) * i k m  (3) m?+ fmn7 (4) m k 

2. dm-: 

(a) fzabJ (4 m?Jl 

@) * (ii) 

(4 @'f (iii) Vf 

(4 UFPft (iv) 

* r $ c l z i i i t $ m m * * * h ~ * * ?  

(a) (b) (4 (4 
(1) (iii) (iv) (i) (ii) 

(2) (iii) (iv) (ii) (i) 

(3) (iii) (i) (iv) (ii) 

(4) (i) (ii) (iv) (iii) 

W T i I W ' d  /SPACE FOR ROUGH WORK 

P.T.O. 



@) f&+n 

(4 * 
(4 * 

(a) (b) (4 

(1) (ii) (i) (iv) 

(2) (ii) (i) (iii) 

(3) (ii) (iii) (i) 

(4) (i) (ii) (iii) 

(1) m 
(4 ?n. 

(iii) 

0.) M 
(4 
(iii) 

(iv) 

(iv) 

(iv) 
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, . . , .. .1 . ,X-l..l- -,*..-. ~.~ . , , , ,"  ,~ ~ .. # .  , 

P.T.O. 



23. W d 

( 1  m m h m  (2) m 
(3) wm (4) *+rmm?Vqfq4m?liit 

T F 4 l ' d  Jrmr /SPACE FOR ROUGH WORK 



24. (a) W, ?i'K$Wl3Fi m. 

@) -,w-m-. 
(1) (a) 4 f 3 ~ 1 -  H e. 
(2) * @ ) 4 @ m * H + t .  
(3) 3fi9iif; (a) 4 @) 3 hwi M d. 
(4) m ( a ) 4 @ ) 3 h w ; r m M + t .  

28. ? R $ T P W l F 5 K ~ $ l V ~ ~ :  

(a) m (i) m ?IFSFI 

(b) m (ii) & 

(4 'W-Y (iii) q$ i~ i g ~ l  

(4 m (iv) =?F 

~ ~ * ~ V 9 f 4 ~ .  

(a) (b) (4 (4 
(1) (iv) (i) (ii) (iii) 

(2) (i) (iii) (ii) (iv) 

(3) (ii) (iv) (i) (iii) 

(4) (iii) (iv) (i) (ii) 

%'WlW8? 3'PlT /SPACE FOR ROUGH WORK 

P.T.O. 
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42. f%W'I~?lWdFld... 

(a) %$dmvdm. 

(b) !%lvmIamsm~mm. 

(c) f%hThMMh. 

(d) Ud rn %%a m. 

w h T h ? r n i 3 + q 5 * ?  

(1) (a), (b) sTfioT (dl (2) Td 

(3) (a) fi (4 (4) (4, (b) * (4 
- - - 

S T 4 T d  /SPACE FOR ROUGH WORK 

P.T.O. 



(a) u$I (i) f h  &-mm+~~ 

(4 - (iii) ??'Fl fi 

(4 (iv) ~~Wfieit G'Gt 

(a) (b) (c) (4 
(1) (ii) (i) (iv) (iii) 

(2) (iii) (iv) (i) (ii) 

(3) (ii) (iii) (i) (iv) 

(4) (iv) (ii) (iii) (i) 

W 4 f d  WTT /SPACE FOR ROUGH WORK 



Si3ST TlWU& /SPACE FOR ROUGH WORK 
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59. 2 6 ~ i 3 m ~ ~ ~ ' 4 ~ r n ~ M t v r ~ ~ M h ~ q  
m? 

(a) $ $ R i 2 6 d T h l ~ W h 7 ~ ~ W d .  

(b) %am+mT*dm$. 

(c) +a7r-+-m*kw+. 

(d) 7 i l ~ ~ . 7 r - + * * ~ ~ .  

WTh: 

(1) 41 (a), (b), (c) fi (d) 3 fid Tm. 

(2) VI - (a) J-TTfbT (b) 8 ?Id Tm. 

(3) T - (a), @) fi (c) 3 ?rd Tm. 

(4) 7il 41 (a), (b) * (d) 3 ?Id q-. 
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62. ~ V % % d ~ W & & $ l ~ ? k 7 ~ ?  

a msird* (b) PJd Ti =mTJI 

(c) +F3T f i qmF~ i f i *  (dl m m  

(1) (a) 3-r@l (b) lF3-a (2) (b) * (4 

(3) (a), (4 3-r@l (d) (4) (a), (bj (d) 'WE 

TlTUd /SPACE FOR ROUGH WORK 

P.T.O. 



70. $kThf?hWhF8fkSWJ: 

(a) 3?%TbE -eTf 2016 3 Wd'+l Tif%Vl4 t$JlR &. 

(b) f b ; m h m ~ ~ e T f - 2 0 1 4 ~ ~ ~ 4 ~ .  

(1) (a) * (2) vmi (b) * 
(3) (a) q (b) ?GI (4) (a) q @) v 

71. hm:  
(a) W-5-i- (i) d i i  ~+&FI TiFen 

(b) %.%. dsxik? (ii) * '%w' 

(c) *01~3im (iii) d ? ~  ~ W P T  +ZF~ ~ W W  

(d) T.T. i bd  (iv) 

(a) (b) (4 (4 
(1) (iv) (iii) (ii) (i) 

(2) (ii) (i) (iv) (iii) 

(3) (iii) (iv) (i) (ii) 

(4) (i) (iii) (iv) (ii) 

W W d  /SPACE FOR ROUGH WORK 
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73. ~ a a s / * ~ ~ + & m + - 4 ~ t m :  

(a) 3.U. 1860 (i) ~ 6 %  & 

@) T.U. 1866 - 67 3 (ii) W&I 

(c) T.U. 1876 - 78 FIT (iii) % 4 ~  & 

(d) 3.U. 1896 - 97 3l (iv) fPTpl & 

(a) (b) (4 (4 

(1) (iv) (iii) (ii) (i) 

(2) (iv) (iii) (i) (ii) 

(3) (i) (iii) (iv) (ii) 

(4) (i) (i) (iv) (iii) 

T l W d  ;irmr /SPACE FOR ROUGH WORK 

P.T.O. 
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75. F i i f z F k h = m l m M ~ P r f a y * ' t M f i ~ * * ?  

(a) m m ~ w 1 m 4 ~ $ t ~ d m M .  

(b) ~ ~ m ~ T m ~ .  

(c) hm-str*mm*. 

(d) ~ ~ ~ ~ T m ~ .  

(1) (a) - (2) (4, (b) * (4 9-im 

(3) @), ( 4  * (dl (4) (41 @) 1 (4 * ( 4  

78. mp: 
(a) (i) @J%w 

(b) * (ii) TIIW 4 

( 4  . wmrd  (iii) f 3 k d  

(d) w? * (iv) 

(a) (b) (4 (4 
(1) (ii) (i) (iv) (iii) 

(2) (ii) (iii) (i) (iv) 

(3) (iv) (iii) (ii) (i) 

(4) (ii) (iv) (i) (iii) 

TFTRl%t 3lTl /SPACE FOR ROUGH WORK 

I 



81. r n E m & ~ & ~ ~ ~ ~ ~ U ~ ~ .  

(a) 3 i 9 ~ i ; ~ f i + m ~ o T W + ~ ~ l @ f + $ T % o l W 4 - + ~  

(b) qbm+whmmTll$s+*/qn 

(c) @-,*+m+?g?+* 
(d) ~ ~ P I ~ + * v W + $ T % ~ T W + ~ + ~  

~ * * * * ?  

(1) (a) (2) (b) (3) (b) WFiJl ( 4  (4) ( 4  

82. ~ & & k 7 ~ @ T l ~ * & ?  

(1) - (2) w - (3) * ~li f i ~g  (4) Y9 - 
83. ~ ~ 1 5 ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ -  

(a) -~+3w+mM*vcia*m. 

(b) ~ ~ ~ m ~ * ~ J r f ~ m ~ i h i l .  

(c) * ~ ~ * * m ~ .  
(d) ~ ~ ~ s j t f i r i t ~ $ m m * m m ~ .  

(1) (a) @) w+ia (2) ( 4 1  ( 4  4 (d) - 
(3) (a), (b) 4 (4 - (4) m * 

- - 

3F4T ;irmr /SPACE FOR ROUGH WORK 

P.T.O. 
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84. ' 3 T ' ~ m ~ ' ~ ' - f a ' ~ ~ ~ ~ F i M l :  

'sr'qmlyxfmd 'zr'amsr;ra& 

(a) m m m d  (i) am~r;r 20" 3 30" 4 . 6  2000 fgrit ?WI M 

(b) rn+F&&dd (ii) m 350 ii 40" 4. vh 5 ~ )  fgrit +tw Tml 

(c) r n ~ d ~ h ~ ~ h d  (iii) rn 200 3 30.4. 6 1000 3 2000 fgrit 

(d) 3ar~~&?'m** (iv) am~r;r 35' 3 40" 4 .  6 500 3 1ooO fgrit 

(a) (b) (4 (4 
(1) (i) (iv) (iii) (ii) 

(2j (i) (iii) (iv) jii) 

(3) (iii) (i) (ii) (iv) 

(4) (iii) (iv) (i) (ii) 

86. d?XIFlMI : 

f3FR 

(a) ad 

@) - 
( c )  - 
(4 7w-E 

(a) (b) 

(1) (iv) (iii) 

(2) (iv) (ii) 

(3) 6) (4 
(4) (iv) (iii) 

m-pt 

(i) - 
(ii) 

(iii) 3V&i 

(iv) d 

(4 (4 
(i) (ii) 

(iii) (i) 

(iii) (iv) 

(ii) (i) 

5=W W W d  TJll /SPACE FOR ROUGH WORK 
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(b) - (ii) * 
(4 * (iii) K Z I  

(4 m (iv) & 

(a) (b) (4 (4 

(1) (iv) (iii) (ii) (i) 

(2) (ii) (i) (iii) (iv) 

(3) (iii) (ii) (i) (iv) 

(4) (iii) (iv) (ii) (i) 

89. (a) ~ & ~ T ? ? T F T R I ~ ~ ~ W ~ ~ .  

(b) ~ h ~ ~ y = 8 = f f t ; t a ~ ~ 4 m ~ ~ ~ ~ ~ ~  
rn d. 

& TIFIT /SPACE FOR ROUGH WORK 

P.T.O. 

# v 
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90. (a) 

(b) ~ m ~ ~ F r n i l ~ ~ ~ ~ W f t ~ e h ~ ~ & .  

W 3Fll /SPACE FOR ROUGH WORK 
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101. ~ a w 7 T ~  - 

DIMP, RWAE, ZEIL, FKOR, VAEH 

(1) RWAE (2) ZEIL (3) FKOR (4) VAEH 

- 

jrmr /SPACE FOR ROUGH WORK 



(1) PSCUTIH (2) PSCTUIH (3) HIUTCSP (4) HIVTPSC 

SWi5l 3I'PTr /SPACE FOR ROUGH WORK 

P.T.O. 



116. 3 h w q x m R .  i o ~ i 9 9 3 ~ ~ m f + m h ~ * ~ m ~ ?  

(1) * (2) - (3) 3"n (4) w 

5 = Z l l % T 4 T d  WT /SPACE FOR ROUGH WORK 

N  

M A N  
M A N  

+ M A N  
N  N 



CX, IR, LO, RI, ? 

T P l T d  TTV /SPACE FOR ROUGH WORK 

,. . ,,..~ ~~ ,. ..,..L.YI ._._.,, ." . .  _-..s,...," ." t 
v-; -- . . + ~-.~- ~ . .,,., **,,.-, 

P.T.O. 
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129. X TAKE - MAKE = 7 ?I7 SOON - MOON = 2 

(1) 6 (2) 7 (3) 8 (4) . 10 

W W d  3 T T  /SPACE FOR ROUGH WORK 

P.T.O. 
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jrmr /SPACE FOR ROUGH WORK 

P.T.O. 



147. T 3 E f h h ?  %QT7/hd #h? & ? 

(a) &&~mdeWkSM~iqmWh;M. 

@) ~ s r ~ & ~ $ ~ , ~ 4 1 * * ~ ~ .  

(c) QftheWkS~mmm~fa. 

(1) (a), (4 (2) (b)l (4 (3) (4 (4) (4 

148. ~ & ~ m ~ m F % m $ t r n = m i 4 ~ 7 o d $ d ~ 3 n f b l &  
~iviijm~mfm&rn=mi4%h95d$d.m&m%s~mf%a?? 

(1) 30, 15 (2) 30, 10 (3) 40, 15 (4) 15, 30 

149. 22, 35,40, 27, 29, 24, 32, 26 VI T f W h  q W h i  Kr4 & ?  

(1) 27 (2) 28 (3) 29 (4) 29.3 

T X 4 T d  T J l T  /SPACE FOR ROUGH WORK 



WWFr& TlTf /SPACE FOR ROUGH WORK 

P.T.O. 
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171. Choose the correct alternative and complete the sentence. 

He must apologise 

(1) so that he may be punished (2) yet he will be punished 

(3) or he will be punished (4) unless he will be punished 

172. In the following sentence choose the part in which you find a mistake. 

Either of the two were supposed to be present in the office 
(a) (b) ( 4  ( 4  

(1) (a) (2 )  (b) (3) (4 (4) (dl 

173. Use the correct alternative. 

I could not use his car because it . 
(1) was having repaired (2) was being repaired 

(3) had been repaired (4) was repairing 

174. Fill in the blank with an acceptable form of the verb given in the options : 

350 runs quite a decent score. 

(1) is ( 2 )  are (3) are being (4) was become 

jrmr /SPACE FOR ROUGH WORK 

P.T.O. 
I _ , _  *__ .,--,-, ,1, . .-..-l*,-mlll.-. "-.-.1' 

,~ " -.-..- " 



175. Which one of the following is correct passive voice for the sentence. 

"They have repaid the loan". 

(1) The loan is repaid by them. 

(2) The loan have repaid by them. 

(3) The loan has been repaid by them. 

(4) The loan have been repaid by them. 

- 

176. Choose the correct indirect sentence from the alternatives. 

My friend Said, "Hello! What are you doing here ?" 

(1) My friend said to me hello, what I was doing there 

(2) My friend greeted me and asked me what I was doing there 

(3) My friend said hello to me and asked me what was I doing there 

(4) My friend wished me and wanted to know that what I was doing there 

177. Choose the correct alternative to complete the sentence. 

How long has he been sleeping ? 

He - for two hours. 

(1) has been sleeping (2) was sleeping 

(3) slept (4) has slept 

- 

178. Choose the correct alternative. 

This document by two persons. 

(1) has signed (2) had been sign (3) was signed (4) was signing 

179. How many parts of speech are there in English Language ? 

(1) Four (2) Seven (3) Eight (4) Six 

- - 

a W T d  /SPACE FOR ROUGH WORK 



180. Rewrite the sentence given below with the right punctuation marks : 

What a tall boy you have become she said 

(1) "What a tall boy you have become ?" she said. 

(2) "What a tall boy you have become," she said. 

(3) "What a tall boy you have become!" she said. 

(4) "What ? A tall boy you have become!" she said. 

181. Choose the correct alternative to complete the sentence. 
'. ! 

Children not eat chocolates. 

(1) Shall (2) Will (3) Should (4) Would 

182. Fill the blank spaces with the right pair of words : 

The bank functions 10.00 a.m. 5.00 p.m. 

(1) ... between ... and .... (2) ... between ... to ... 

(3) ... from ... to .... (4) ... at ... and ... . 

183. Fill in the blank with an acceptable form of the verb given in the options. 

My father many friends. 

(1) have (2) has (3) want (4) is wanting 

184. Shakespeare is the greatest of English dramatists 

(Change into the comparative degree). 

(a) Shakespeare is as great as other English dramatist. 

@) Shakespeare is the greatest English dramatist. 

(c) Shakespeare is the best English dramatist. 

(d) Shakespeare is greater than any other English dramatist. 

Which of the statement given above is correct ? 

(1) (a) only (2) (b) and ( 4  

(3) (d) only (4) None of the above 

W ' 4 l d  W T  /SPACE FOR ROUGH WORK 

P.T.O. 

,." ,.,,. ,.,.,,,,.",-.~-" -.._., . , "  .._" .-..,-- , . ,  " . . " . - .. I . . 1 
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185. Do as directed by instructions given in the bracket. 

He is too poor to buy a radio (Remove too) 

(1) He is so poor that he cannot buy a radio. 

(2)  So poor he is that he cannot buy a radio. 

(3) Poor so he is that he cannot buy a radio. 

(4) He cannot buy a radio because he is so poor. 

186. Which part of the sentence given below contains an error, if any ? 

I think so that some helo from vou will help him 

(a) (b) (4  

(1) (a) (2) (b) (3) ( 4  (4) No error 

187. The past subjunctive is the hypothetical subjunctivc. It is restricted to : 

(1) Shall (2) Will (3) Can (4) Were 

188. The plurals such as, 'mens', 'childrens' are known as : 

(1) Zero plurals (2) Regular plurals (3) Double plurals (4) Mutation plurals 

189. Change the following into Passive Voice. 

We ought to respect the elders. 

(1) The elders ought to be respected by us 

(2) We should respect the elders 

(3) The elders need to be respected by us 

(4) The elders should earn respect by us 

TlT /SPACE FOR ROUGH WORK 
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190. Choose the correct indirect speech for the given sentence. 

"What a hopeless fellow you are!" Said the teacher to the student 

(1) 'The teacher told the student that you are a hopeless fellow 

(2) The teacher told the student that he was a very hopeless fellow 

(3) The teacher said what a hopeless fellow the student was 

(4) The teacher exclaimed that the student was what a hopeless fellow 

191. Do as directed as per the instructions given in the bracket. 

She is the best girl in the school (make it positive) 

(1) No other girl in the school is as good as she is 

(2) She is the only good girl in the school 

(3) In the school only she is the good girl 

(4) She is good girl only in the school 

192. A compound sentence has. 

(1) One clause (2) One or more coordinate clauses 

(3) One or more subordinate clauses (4) No clause 

93. The comparative degree of the sentence : 

"Mumbai is a rich city of India." is : 

(1) Mumbai is one of the richest cities in India 

(2) Very few cities in India are as rich as Mumbai 

(3) No other city is as rich as Mumbai 

(4) Mumbai is richer than most other cities in India 

%I d -jrmr /SPACE FOR ROUGH WORK 

P.T.O. 



194. Which of the following sentences is/are grammatically c o m t  ? 

(i) She leaves for London this evening. 

{ii) He is having many friends. 

(iii) I am wanting a glass of water. 

(iv) The rain has been raining very hard. 

Answer Options : 

(1) 0) (2) MY (ii) 
(3) Only (i), (ii) and (iv) (4) Only (ii), (iii) and (iv) 

195. Which of the following sentences may indicate a future event ? 

(1) The movie starts in ten minutes. 

(ii) The sample will be sent for detailed examination. 

(iii) You should finish the work before you leave. 

Answer Options : 

(1) Only ti) and (ij) (2) ~ I Y  (ii) 

(3) Only (ii) and (iii) (4) A11 three 

196. What does the underlined word express ? 

The train should arrive any time now. 

(I) Necessity (2) Expectation (3) Suggestion (4) Instruction 

197. Pick the correct choice from the ones given below. 

Tnspite of being very rich, he is very humble , 

He is very rich : 

(I) but he is very humble (2)  however he is very humble 

(3) yetheisveryhumble (4) not withstanding he is very humble 

198. Choose the correct verb from the alternatives. 

The Headmaster to speak to you. 

(I) wanting (2) was wanting (3) wants (4) is wanting 

WV& W /SPACE FOR ROUGH WORK 



199. Match the following : 

(A) (3) 

(a) a place where birds are kept (i) eccentric 

(b) a tank for fish (ii) inanimate 

(c} a man of unllsual habit (iii) acquarium 

(d) an object which has no life (iv) aviary 

Answers : 

(4 (bl (4 (dl 
(I) (jv) (iii) (i) (ii) 

( 2 )  (iii) (ii) (i) {iv) 

(3) (ii) (i) {iii) (iv) 

(4) (i) (iv) (ii) (iii) 

200. Identify the grammatically incorrect senfence : 

(1) I don't know why is he upset (2) Why are you not working ? 

(3) How lazy he is! (4) What beautiful flowers these are! 

3WW@$ TmfTl /SPACE FOR ROUGH WORK: 
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